Intercept Grade
Estimated
Bore Hole Interval True Width U308
Number From (m) To (m) (m) (m) U308% 1b/st
56.5 57.5 1.0 1.0 0.128 2.56
ARW-004 - e
87.5 89.5 2.0 2.0 0.104 2.08
42.0 45.5 3.5 3.5 0.072 1.44
ARW-005 - e
48.0 60.0 12.0 12.0 0.118 2.36
ARW-006 21.0 24.0 3.0 3.0 0.038 0.76
28.0 36.0 8.0 8.0 0.062 1.24
ARW-007 55.5 82.5 27.0 27.0 0.081 1.62
59.0 70.0 11.0 11.0 0.129 2.58
86.0 94.0 8.0 8.0 0.045 0.90
112.5 121.5 9.0 9.0 0.171 3.42
ARW-008 ————=————mmmmm e e
118.0 121.0 3.0 3.0 0.411 8.22
124.0 126.0 2.0 2.0 0.071 1.42
36.5 37.5 1.0 1.0 0.409 8.18
ARW-009 71.5 91.5 20.0 20.0 0.082 1.064
77.5 83.0 5.5 5.5 0.110 2.20
ARW-010 No Significant Results
ARW-011 25.0 31.0 6.0 6.0 0.060 1.20
ARW-012 41.0 47.0 6.0 6.0 0.062 1.24
ARW-013 52.0 78.0 26.0 25.6 0.124 2.48
17.0 38.0 21.0 21.0 0.045 0.90
ARW-014 -—————————mmmmmm e e
55.0 74.0 19.0 19.0 0.068 1.36

ARW-015 62.0 74.0 12.0 11.8 0.047 0.94



Note: 1lb/st is an abbreviation for pounds per short ton. 1 short ton equals
2,0001bs or 0.907 metric tonnes.



